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< 46,669 16,669 30,000
= 13,706,695 16,112,680 22,405,985
I & NS Lat 2,004,015 1,832,069 171,946
& 46,669 16,669 30,000
= 1,957,346 1,815,400 141,946
SR 2E J|2 £F 163,260 120,040 43,220
o8 =Y = 158,260 115,040 43,220
201 L2 107,360 92,360 15,000
03 SAH2ZHI 15,000 0 15,000
Ooze g 2% 15,000 0 15,000
202 o4l 24,700 2,700 22,000
01 204 24,700 2,700 22,000
OSFRd 12y X0 gstHl s 22,000 0 22,000
301 LEIEEZ 12,200 10,280 1,920
11 SHAIAHIXIR S 8,200 8,280 280
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14 DBt 243 4,000 2,000 2,000
Oz EMZLE 2Rt T4 2,000 0 2,000
303 L&tz 12,000 7,700 4,300
01 Z&= 12,000 7,700 4,300
OZR AMARC HIL AlMZ 4,300 0 4,300
—x22(18) 1,000,000 * 1 £ A 1,000 0 1,000
4=(28) 700,000 +2JH = A 1,400 0 1,400
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SZAY 2 AIHAIE S E2F 22l 56,100 20,100 36,000
S2AY =& 56,100 20,100 36,000
201 2= 24,000 18,000 6,000
01 AtR2telt] 24,000 18,000 6,000
Oget=ZH| 24,000 18,000 6,000
—ZS2AMY H20t u=s Y A2 A48
3,000,000 *33 9,000 6,000 3,000
—3ZAY HMtA =& (PPTEE)
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207 A0 30,000 0 30,000
01 2= AHI 30,000 0 30,000
OFY - & 3Z2AME Uis 89 30,000 0 30,000
SSHel ola 29 245,614 218,134 27,480
= 30,000 0 30,000
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SA 1= A
3 23X & N 23
ol 2EH Ho 2Y (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - BES O] a0 ol & o blnE2
olatEy 24 182,174 183,254 21,080
202 Ot 4,920 6,000 21,080
01 =LHoi 4,920 6,000 21,080
ONgd2g gega (s, 5¢)
0,000& x2H 21 2,520 3,600 1,080
NEARA 29 27,800 29,240 21,440
202 04l 7,920 9,360 21,440
01 =LH0i 7,920 9,360 21,440
OZYREH S NEMA 75 2 =&
60,0003 1 * 112+ 122 7,920 9,360 21,440
detde HEEE EIHERX) 30,000 0 30,000
< 30,000 0 30,000
201 fer=3| 30,000 0 30,000
< 30,000 0 30,000
01 At2teltl 30,000 0 30,000
OXNZNE SgZat A& 30,000 0 30,000
< 30,000 0 30,000
MAAOL AHE = 130,058 93,370 36,688
AL E EAER =T 79,358 74,670 4,688
201 Ler23| 38,926 39,926 21,000
03 A= SHI 9,000 10,000 21,000
OFg= 2 §F S 9,000 10,000 21,000
308 ZLat= 6,700 600 6,100
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500,000 *4IH S Al 2,000 0 2,000
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Ogt=&4| 46,220 51,500 25,280
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INEEON 10,0002 82+ 151 * 123 14,400 18,240 13,840
=X 15,0002 x4+ 130K * 123 9,360 10,800 A 1,440
TIEE & S22 MA 772,918 744,080 28,838
(O elal] 13,918 0 13,918
M IRINZZ2NSE+ 13,918 0 13,918
Ooxzd 82 € NMgsd EX 13,918 0 13,918
— el 76,9602 22U »8 13,545 0 13,545
—2ER(LE,LHH)
13,545,0002%2.75% 373 0 373
201 Ler2aY| 728,680 711,080 17,600
01 Ak 2teltl 713,020 693,020 20,000
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2 s==3tl 15,660 18,060 22,400
O352= € MAl 12,660 15,060 22,400
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1,000 +4,000S+32] 12,000 14,400 A2,400
202 Ot 4,320 6,000 A1,680
01 2oL 4,320 6,000 1,680
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100,000& x5 & =22 1,000 2,000 1,000
st SHATA & Ttz Fel 108,071 98,071 5,000
LS 16,669 16,669 0
e 86,402 81,402 5,000
SHZA & 22| 47,721 42,721 5,000
201 £er2aY| 30,709 25,709 5,000
01 Ak 2teltl 30,709 25,709 5,000
O=zd #=23H =& HMH
10,0002 %5002 5,000 0 5,000
AH2AZY(D1=04HA) 252,868 265,863 A12,99%
il 133,831 130,627 3,204
eibalsl 133,831 130,627 3,204
101 QIA4H] 133,831 130,627 3,204
01 2= 133,831 130,627 3,204
OAlZe22+d FUE(249) 33,302 32,467 835
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—9= 9,620& x1&+10AI 2t+ 123 1,155 2,19 1,044
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10,9083 x24H+32A1 2t 128 100,529 98,160 2,369
JI=2&d| 119,037 135,236 16,199
Jl=&H| 119,037 135,236 16,199
201 L2 81,007 85,386 A4,379
01 AtR2telb] 74,457 78,836 A4,379
OfIds =< 23,100 23,800 AT700
— AR 70,0003 »35Z +23 4,900 5,600 AT700
Oget=ZH| SHAL 25,107 28,786 A3,679
202 044l 26,750 41,750 215,000
01 =LA LI 26,750 41,750 /15,000
O=3U04HI(2LH) 14,357 29,357 /15,000
203 FR=4| 9,780 8,100 1,680
04 FAZSLRFAI 6,480 4,800 1,680
ORM2IERETHI(MEEN 4HE2) 1,680 0 1,680
405 AtatE = 1,500 0 1,500
01 ML ESFH SHI 1,500 0 1,500
OgaEEA AMU(IN) 1,500 0 1,500
oligigl 8,996,481 11,531,417 A2,534,936
oliglsl 8,996,481 11,531,417 A2,534,936
oligll 8,996,481 11,531,417 A2,534,936
801 OiHIHI 8,996,481 11,531,417 N2,534,936
01 Lerolblbl 5,330,388 4,368,000 962,388
Oodisl 5,330,388 4,368,000 962,388
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